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                            The figures in the margin indicate full marks                                                                                                                                                                                    

                                                          

                                                            Group-A 

 

1. Answer any five questions from the following:                                              [𝟓 ×  𝟓 =  𝟐𝟓]                         
 

a) What is electric dipole? If the electrostatic potential is (40𝑥2 + 30𝑦2 − 10𝑧2). Then find the 

components of electric field intensity at point (−3, 2, 5 ).                                         2 + 3 = 5  
b) State Gauss’s theorem of electrostatics. Apply Gauss’s theorem of electrostatic find out the 

electric field at a point near a uniformly charged, long, straight wire.                        2 + 3 = 5 

c) State Bio-Savart law. What is Lorentz force? Write its expression.                     2 + 2 + 1 = 5 

d) What is Seebeck effect? State and explain the laws of thermo-electric effect.           2 + 3 = 5                                                             

e) Find the expression for the magnetic field at a point on the axis of a circular coil carrying 

current.                                                                                                                                       5 

f) State Thevenin theorem on electrical circuit. Differentiate between Peltier effect and Joule 

effect.                                                                                                                           2 + 3 = 5  

                                                         

 

                                                                        Group-B  

 

2. Answer any five questions from the following:                                                [𝟓 ×  𝟓 = 𝟐𝟓] 
                             

a) What is P-N junction? Is P-N junction ohmic device? 

b) What are the differences between convex lens and concave lens? 

c) Define refractive index? What is the least value of refractive index possible? 

d) What is the focal length of a lens? Which lens is called as diverging lens and why? 

e) How does the earth magnetic field run? What is tangent law? 

f) Define moment of inertia. Does the moment of inertia of the body depend on its axis of 

rotation? 

 

 

 

 

 

 

 

 

 

 



 

 

 

                                                                

                                                                [Bengali Version] 

 

                                                                              Group-A  

১। যে য োন ো পোাঁচটি প্রনের উত্তর দোওঃ                                                                                       [৫ ×  ৫ = ২৫] 

ক) তড়িৎ ড়িমেরু কী? ককোম ো অঞ্চমে তড়িৎমেমের ড়িভি (40𝑥2 + 30𝑦2 − 10𝑧2)হমে, (−3, 2, 5 )ড়িন্দমুত 

তড়িৎমেমের প্রোিমেের উপোাংশ গুড়ে ড়  নয় কর।                                                                                 ২+ ৩ = ৫                          

খ) ড়ির- তড়িৎ সাংক্রোন্ত গোউমসর উপপোদ্েটি কেখ। এই উপপোমদ্ের সোহোমযে সুষেভোমি আড়হত একটি দ্ীর্ ন 

ধোতুতোর কেমক ককোম ো একটি ড়িন্দমুত তড়িৎমেএ ড় র্ নয় কর।                                                                ২+ ৩ = ৫     

                                              

গ) িোময়ো-সোভোিন সূেটি ড়িিৃত কর। কেোমরঞ্জ িে িেমত ড়ক কিোঝোয়? এর গোড় ড়তক সেীকরর্ কেখ। 

                                                                                                                                                           ২+ ২+ ১ = ৫                                                                                                                                                                                                                                                                                                                                          

র্) সীমিক ক্রক্রয়ো কোমক িমে? তোপ তড়িৎ ক্রক্রয়োর সুেগুড়ে ড়িিৃত ও িেোখেো কর।                                   ২ +৩ = ৫                                                                 

ঙ) তড়িৎিোহী িৃত্তোকোর কুণ্ডেীর অমের উপর ককোম ো ড়িন্দমুত চুম্বক কেমের প্রোিমেের রোড়শেোেো ড়  নয় কর।   ৫  

চ) তড়িৎ িতন ী সাংক্রোন্ত কেভ ীম র উপপোদ্েটি কেখ। কপেটিয়োর ক্রক্রয়ো ও জেু ক্রক্রয়োর পোে নকেগুড়ে কেখ।  

                                                                                                                                                                 ২+ ৩ = ৫             

 

 

                                                                         Group-B  

 

    ২। যে য োন ো পোাঁচটি প্রনের উত্তর দোওঃ                                                                                 [৫ ×  ৫ = ২৫] 

    ক) P-N জংশন কী? P-N জংশন কক ওহকিক (ohmic) কিভাইস? 

    খ) উত্তল ললন্স এবং অবতল ললন্সন্সর িন্সযে পার্ থকে কী? 

    গ)  প্রকতসারঙ্ক (refractive index) কান্সক বন্সল? এর সব থকনম্ন িান কী? 

    র্) কেমের ক োকোস- দদ্র্ নে কোমক িমে? লকান ললন্সন্সক িাইভারজথং ললন্স বলা হয় এবং লকন? 

  ঙ) পৃকর্বীর লচৌম্বকীয় লেত্রটি কীভান্সব চন্সল? ?িেো মজ ?এর?সূেটি?ললখ। 

    চ) জড়তা ভ্রািক কান্সক বন্সল? লকান্সনা বস্তুর জড়তা ভ্রািক কক তার ল ারার অন্সের উপর কনভথর কন্সর? 

 

 

 

 

 

Answer scripts must be emailed to part2gcityphysics@gmail.com within 15 minutes of the end of the 

examination. 



 

 

 

 


